Space General

WWW.spacegenera l.co.nz

(A7
(% \\?g\x\\/ %

Assembly Instructions - Thank you for your purchase.
Please follow the instructions below for correct assembly.



&

C D
M6X40 M6X30 M6X15 M6 X12 M4X25
8pcs 28pcs 12pcs 4pcs Tpc
o f Ap/‘
% ? R~ C = _
S I
< ! \ C %
™




A AN

Pl

p , 5e.

gt ; A
m >
z =

%%%




We'd love to see how it looks in your
space—share your setup and tag us on
Instagram @spacegeneralnz

Visit us at www.spacegeneral.co.nz.



